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3 Dan buys 24 packets of nuts.
Each packet of nuts weighs 225 g.

(a) Work out the total weight of all the packets of nuts that Dan buys.
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Susan is going to have a party.
There will be 50 people at the party.

Susan wants to buy enough sausages so that each person at the party can have 2 sausages.

There arc § sausages in cach pack.
Susan buys 12 packs of sausages.

(b) Has she bought enough sausages?

(Total for Question 3 is 5 marks)




image3.png
7 Noah buys coffee sachets to use in his coffee maker.
There arc 16 coffec sachets in a pack.

A pack costs £3.09
Noah uses 5 coffee sachets cach day.

‘Work out the minimum amount that Noah spends on coffee sachets in one year.
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(a) Write numbers in the boxes below to make the statement true.

15x20 =5 x| =6x

4]

(b) I'm thinking of a number.
1 cube that number and then add 9, | get 17.

What number am | thinking of?

(®) .





